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.param rccs 400

.param Rs 100

.param k3 0.50

.param RpotM=10k

;step param k3 0 1 0.1
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P130  BRAHMA EVO44.2554
better current match in the mirror than with EFA mirror
EFA Mirror = Mirror With helper

http://www.zen22142.zen.co.uk/Theory/re_model.htm

re=26/I
re=26/6.4=4.06ohm
Re=10re = 41ohm

creates square distortion
in base of VAS
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R57 = R62 // R58

R10 CCS collector resistor has two purposes:
 
1.  Reduce the dissipation in the CCS active transistor so that it be a TO92 and not a TO126, spreading the load between resistor and transistor, and
 
2.  Prevent the CCS starting until there is a few volts across the rail.  During turn on this means the LTP does not turn on so that no part of the amplifier can create a large offset at the speaker.

Q12 the KSC3503 has higher Early voltage which makes it a better current source. The 2SC4793 might work even better. Medium power transistors often have very high Early voltage.

BP

I meant the other side of the resistor R10 In this schematic the resistor gets bypassed by 
Q2's collector, which ruins the point. 
The purpose of the resistor is to help with leakage capacitance at the LTP emitters in the first place, 
so bypassing it is bad.
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Increasing R66
reduces SR
Reduces buffer current so it does not saturate while clipping.
Clipping is smoother with 2k2 instead of 220

1N4149

101.36365µV

-1.3976468V

1.4331282V

101.37631µV

56.395277V 57V

-2
2

9
.7

2
0

7
5

m
A

2
2

9
.7

1
4

4
2

m
A

20.438385mA

-2
2

9
.7

2
0

7
5

m
A

2
2

9
.7

1
4

4
2

m
A

-195.0401mV

72.774309µV5.4162107µV

54.898886V

101.37631µV

71.894488µV 72.774309µV

-55.069066V-41.299395V

14.388047V

-56.359557V

101.36365µV

3.8653178mA3.8647832mA

-7.9228217V

796.93014µA 6.3000895mA1.0681315mA1.0771085mA

2
0

.6
55

8
6

5
m

A

8
2

.9
52

4
6

5
m

V

7
.7

2
77

8
1

6
m

A

55.000381V

54.30311V

748.19567µA


